
Time: 10 Minutes Paper Math 8 (T-1) Total Marks: 10

6th Month, 4th Week, 4th Day Review Exercise 5 Q # (13,14,15,17)

//// Answer the following questions:     (2 × 5 = 10) ŠŠŠŠ,,,,XXXX ŠŠŠŠgggg̀`̀̀ffffssssÎÎÎÎZZZZÑÑÑÑ]]]]ÆÆÆÆ����ZZZZ[[[[
(i) The candidate "A" solved 75% of the problems of mathematics exercise. Te

candidatre "B" solved 10% of the problems of the same exercise. What will be

the probability that the candidate A or B solve the problems at random.

XXXXiiiiHHHHXXXXZZZZkkkk!!!!****]]]]»»»»HHHHZZZZkkkkyyyyƒƒƒƒÇÇÇÇāāāāZZZZyyyyZZZZzzzzZZZZgggg 10% XXXXiiiiHHHHZZZZyyyyzzzzZZZZggggääääZZZZÏÏÏÏwwww»»»» 75% ääääggggcccc****èèèèÅÅÅÅwwww»»»» A ZZZZyyyyzzzzZZZZgggg

ääää""""FFFF,,,,KKKKMMMMXXXXÃÃÃÃiiii™™™™ŠŠŠŠcccc****ììììXXXX Bcccc****A
(ii) The probability that monkey will be alive about 25 years is 0.85 and 0.82 will

be alive about 28 years find the probability that.

(a)  Both of them will alive  (b)  Both them will die.

‚‚‚‚wwwwiiii0000++++{{{{gggg����»»»»ZZZZkkkkyyyy¥¥¥¥xxxx™™™™,,,,XXXX 28 ÆÆÆÆ½½½½ãããã 0.82 ììììZZZZzzzzgggg 0.85 ‚‚‚‚wwwwiiii0000++++{{{{gggg����»»»»ZZZZkkkkyyyy 25 ÈÈÈÈgggg»»»»½½½½ãããã

ZZZZyyyy~~~~ÐÐÐÐŠŠŠŠzzzzââââVVVV%%%%YYYYNNNNÐÐÐÐ (b) ZZZZyyyy~~~~ÐÐÐÐŠŠŠŠzzzzââââVVVViiii0000++++{{{{gggg÷÷÷÷ÐÐÐÐ (a)
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